
Ja
nu

ar
y



January 2024

RODRUNNER REF NO: BC-AF-BS037 ADAPTABLE ALFA ROMEO

Control Arm Bushing

Weight: 0,22

STELVIO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2016- Front Lower
Rearward

50552328*, 50552330*,
68394920AA*, 68394930AA*

Length: 90

Exc. Quadrifoglio

TC-AF-488
Control Arm

and Ball Joint

Front Right
Lower

Rearward

50552328, 68394930AA

TC-AF-489
Control Arm

and Ball Joint

Front Left
Lower

Rearward

50552330, 68394920AA

RODRUNNER REF NO: TC-B-108 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 1,538

i4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G26 2021- Front Right
Lower

31108837894

Length: 282,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS191
Control Arm

Bushing
Front Lower
Rearward

31106898072*, 31106878594*

Grand Coupe

www.rodrunnerparts.com 1



January 2024

RODRUNNER REF NO: TC-B-109 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 1,538

i4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G26 2021- Front Left
Lower

31108837893

Length: 282,5 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS191
Control Arm

Bushing
Front Lower
Rearward

31106898072*, 31106878594*

Grand Coupe

RODRUNNER REF NO: LS-B-1106 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,19

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Rear Right 33506888790

Length: 97 Bolt Metric: M10X1,5

www.rodrunnerparts.com 2



January 2024

RODRUNNER REF NO: LS-B-1107 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,19

iX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

I20 2021- Rear Left 33506888789

Length: 97 Bolt Metric: M10X1,5

RODRUNNER REF NO: LS-B-116 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,192

i4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G26 2021- Rear Right 33506895144

Length: 95 Bolt Metric: M10X1,5

www.rodrunnerparts.com 3



January 2024

RODRUNNER REF NO: LS-B-117 ADAPTABLE BMW

Stabilizer Bar Link

Weight: 0,192

i4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G26 2021- Rear Left 33506895143

Length: 95 Bolt Metric: M10X1,5

RODRUNNER REF NO: TC-B-188 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 2,635

4-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G22/G23/G26 2021- Front Right
Lower Forward

31106898536

Length: 382 Bolt Metric: M16X1,5

Grand Coupe

www.rodrunnerparts.com 4



January 2024

RODRUNNER REF NO: TC-B-189 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 2,635

4-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G22/G23/G26 2021- Front Left
Lower Forward

31106898535

Length: 382 Bolt Metric: M16X1,5

Grand Coupe

RODRUNNER REF NO: TC-B-208 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 2,655

i4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G26 2021- Front Right
Lower Forward

31106895244

Length: 382 Bolt Metric: M16X1,5

Grand Coupe

www.rodrunnerparts.com 5



January 2024

RODRUNNER REF NO: TC-B-209 ADAPTABLE BMW

Control Arm and Ball Joint

Weight: 2,655

i4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G26 2021- Front Left
Lower Forward

31106895243

Length: 382 Bolt Metric: M16X1,5

Grand Coupe

RODRUNNER REF NO: BJ-CH-1164K ADAPTABLE CHEVROLET

Ball Joint

Weight: 1,099

S10

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2017- Front Lower 52084670

Length: 109,7 Bolt Metric: M14X1,5

South America Market

www.rodrunnerparts.com 6



January 2024

RODRUNNER REF NO: TC-CH-1298 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 0,71

EQUINOX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear 23326734

Length: 303,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CH-BS151
Lateral Arm

Bushing
Rear 23326734*

Camber/Toe Lateral Link

RODRUNNER REF NO: TC-CH-1298 ADAPTABLE GMC

Lateral Arm

Weight: 0,71

TERRAIN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear 23326734

Length: 303,8

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CH-BS151
Lateral Arm

Bushing
Rear 23326734*

Camber/Toe Lateral Link

www.rodrunnerparts.com 7



January 2024

RODRUNNER REF NO: BC-CH-BS151 ADAPTABLE CHEVROLET

Lateral Arm Bushing

Weight: 0,205

EQUINOX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Rear 23326734*

Length: 47

Adjuster Link Bushing

TC-CH-1298 Lateral Arm Rear 23326734

RODRUNNER REF NO: BC-CH-BS151 ADAPTABLE GMC

Lateral Arm Bushing

Weight: 0,205

TERRAIN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Rear 23326734*

Length: 47

Adjuster Link Bushing

TC-CH-1298 Lateral Arm Rear 23326734

www.rodrunnerparts.com 8



January 2024

RODRUNNER REF NO: TC-CR-548 ADAPTABLE CHRYSLER

Control Arm and Ball Joint

Weight: 4,293

200

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015-2017 Front Right
Lower

CMS251202, 4877848AA,
4877848AB

Length: 336

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CR-BS049
Control Arm

Bushing
Front Lower

Outer
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

BC-CR-BS048
Control Arm

Bushing
Front Lower

Inner
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

RODRUNNER REF NO: TC-CR-548 ADAPTABLE DODGE

Control Arm and Ball Joint

Weight: 4,293

DART

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PF 2013-2016 Front Right
Lower

CMS251202, 4877848AA,
4877848AB

Length: 336

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CR-BS049
Control Arm

Bushing
Front Lower

Outer
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

BC-CR-BS048
Control Arm

Bushing
Front Lower

Inner
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

www.rodrunnerparts.com 9



January 2024

RODRUNNER REF NO: TC-CR-549 ADAPTABLE CHRYSLER

Control Arm and Ball Joint

Weight: 4,293

200

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015-2017 Front Left
Lower

CMS251201, 4877849AA,
4877849AB

Length: 336

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CR-BS049
Control Arm

Bushing
Front Lower

Outer
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

BC-CR-BS048
Control Arm

Bushing
Front Lower

Inner
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

RODRUNNER REF NO: TC-CR-549 ADAPTABLE DODGE

Control Arm and Ball Joint

Weight: 4,293

DART

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PF 2013-2016 Front Left
Lower

CMS251201, 4877849AA,
4877849AB

Length: 336

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CR-BS049
Control Arm

Bushing
Front Lower

Outer
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

BC-CR-BS048
Control Arm

Bushing
Front Lower

Inner
CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

www.rodrunnerparts.com 10



January 2024

RODRUNNER REF NO: BC-CR-BS048 ADAPTABLE CHRYSLER

Control Arm Bushing

Weight: 0,244

200

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015-2017 Front Lower
Inner

CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

Length: 67,5

TC-CR-548
Control Arm

and Ball Joint
Front Right

Lower
CMS251202, 4877848AA,

4877848AB

TC-CR-549
Control Arm

and Ball Joint
Front Left

Lower
CMS251201, 4877849AA,

4877849AB

RODRUNNER REF NO: BC-CR-BS048 ADAPTABLE DODGE

Control Arm Bushing

Weight: 0,244

DART

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PF 2013-2016 Front Lower
Inner

CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

Length: 67,5

TC-CR-548
Control Arm

and Ball Joint
Front Right

Lower
CMS251202, 4877848AA,

4877848AB

TC-CR-549
Control Arm

and Ball Joint
Front Left

Lower
CMS251201, 4877849AA,

4877849AB

www.rodrunnerparts.com 11



January 2024

RODRUNNER REF NO: BC-CR-BS049 ADAPTABLE CHRYSLER

Control Arm Bushing

Weight: 0,348

200

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2015-2017 Front Lower
Outer

CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

Length: 55,8

TC-CR-548
Control Arm

and Ball Joint
Front Right

Lower
CMS251202, 4877848AA,

4877848AB

TC-CR-549
Control Arm

and Ball Joint
Front Left

Lower
CMS251201, 4877849AA,

4877849AB

RODRUNNER REF NO: BC-CR-BS049 ADAPTABLE DODGE

Control Arm Bushing

Weight: 0,348

DART

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PF 2013-2016 Front Lower
Outer

CMS251202*, CMS251201*,
4877848AB*, 4877849AA*

Length: 55,8

TC-CR-548
Control Arm

and Ball Joint
Front Right

Lower
CMS251202, 4877848AA,

4877848AB

TC-CR-549
Control Arm

and Ball Joint
Front Left

Lower
CMS251201, 4877849AA,

4877849AB

www.rodrunnerparts.com 12



January 2024

RODRUNNER REF NO: TR-DO-601 ADAPTABLE DODGE

Tie Rod End

Weight: 1,025

RAM 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Inner ES3171RLT, 52037583

Length: 240 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

USA Market / RWD

YEAR ONLY
1994-1999

RODRUNNER REF NO: TR-DO-601 ADAPTABLE DODGE

Tie Rod End

Weight: 1,025

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Inner ES3171RLT, 52037583

Length: 240 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

USA Market / RWD

YEAR ONLY
1994-1999

www.rodrunnerparts.com 13



January 2024

RODRUNNER REF NO: TR-DO-601 ADAPTABLE DODGE

Tie Rod End

Weight: 1,025

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Inner ES3171RLT, 52037583

Length: 240 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

USA Market / RWD

YEAR ONLY
1994-1999

RODRUNNER REF NO: TR-FO-131 ADAPTABLE FORD

Tie Rod End

Weight: 1,242

EXCURSION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UW137 2000-2005 Front Right
Outer

ES3417T, 3C3Z3304CA,
4C3Z3304AC

Length: 189 Bolt Metric: M14X1,5 RH Housing Metric: 7/8" 16G

USA Market

www.rodrunnerparts.com 14



January 2024

RODRUNNER REF NO: TR-FO-131 ADAPTABLE FORD

Tie Rod End

Weight: 1,242

F-250 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PHN131 1999-2007 Front Right
Outer

ES3417T, 3C3Z3304CA,
4C3Z3304AC

Length: 189 Bolt Metric: M14X1,5 RH Housing Metric: 7/8" 16G

USA Market

RODRUNNER REF NO: TR-FO-131 ADAPTABLE FORD

Tie Rod End

Weight: 1,242

F-350 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PHN131 1999-2007 Front Right
Outer

ES3417T, 3C3Z3304CA,
4C3Z3304AC

Length: 189 Bolt Metric: M14X1,5 RH Housing Metric: 7/8" 16G

USA Market

www.rodrunnerparts.com 15



January 2024

RODRUNNER REF NO: TR-FO-132 ADAPTABLE FORD

Tie Rod End

Weight: 1,242

EXCURSION

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UW137 2000-2005 Front Left
Outer

ES3418, 4C3Z3A131AB,
4C3Z3A131AE

Length: 189 Bolt Metric: M14X1,5 RH Housing Metric: 1" 16G UN

USA Market

RODRUNNER REF NO: TR-FO-132 ADAPTABLE FORD

Tie Rod End

Weight: 1,242

F-250 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PHN131 1999-2007 Front Left
Outer

ES3418, 4C3Z3A131AB,
4C3Z3A131AE

Length: 189 Bolt Metric: M14X1,5 RH Housing Metric: 1" 16G UN

USA Market

www.rodrunnerparts.com 16



January 2024

RODRUNNER REF NO: TR-FO-132 ADAPTABLE FORD

Tie Rod End

Weight: 1,242

F-350 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

PHN131 1999-2007 Front Left
Outer

ES3418, 4C3Z3A131AB,
4C3Z3A131AE

Length: 189 Bolt Metric: M14X1,5 RH Housing Metric: 1" 16G UN

USA Market

RODRUNNER REF NO: TC-FO-1858 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 2,51

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

14th Gen 2021- Front Right
Upper

ML3Z3084A

Length: 200,7 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1374 Ball Joint Front Upper ML3Z3084A*, ML3Z3085A*

BC-SB 1345
Control Arm

Bushing
Front Upper AL3Z3084B*, AL3Z3085B*

www.rodrunnerparts.com 17



January 2024

RODRUNNER REF NO: TC-FO-1859 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 2,51

F-150

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

14th Gen 2021- Front Left
Upper

ML3Z3085A

Length: 200,7 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1374 Ball Joint Front Upper ML3Z3084A*, ML3Z3085A*

BC-SB 1345
Control Arm

Bushing
Front Upper AL3Z3084B*, AL3Z3085B*

RODRUNNER REF NO: BJ-FO-994 ADAPTABLE FORD

Ball Joint

Weight: 0,536

BRONCO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 1980-1996 Front Lower K8195T, 3820873, 14039008,
3633950

Length: 92 Bolt Metric: 3/4" 16G UNF

USA Market

www.rodrunnerparts.com 18



January 2024

RODRUNNER REF NO: BJ-FO-994 ADAPTABLE FORD

Ball Joint

Weight: 0,536

F-100

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1983 Front Lower K8195T, 3820873, 14039008,
3633950

Length: 92 Bolt Metric: 3/4" 16G UNF

USA Market

RODRUNNER REF NO: BJ-FO-994 ADAPTABLE FORD

Ball Joint

Weight: 0,536

F-250

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1986 Front Lower K8195T, 3820873, 14039008,
3633950

Length: 92 Bolt Metric: 3/4" 16G UNF

USA Market

www.rodrunnerparts.com 19



January 2024

RODRUNNER REF NO: BJ-FO-994 ADAPTABLE FORD

Ball Joint

Weight: 0,536

F-350

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 1980-1986 Front Lower K8195T, 3820873, 14039008,
3633950

Length: 92 Bolt Metric: 3/4" 16G UNF

USA Market

RODRUNNER REF NO: BJ-FO-994 ADAPTABLE GMC

Ball Joint

Weight: 0,536

JIMMY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1973-1982 Front Lower K8195T, 3820873, 14039008,
3633950

Length: 92 Bolt Metric: 3/4" 16G UNF

USA Market

www.rodrunnerparts.com 20



January 2024

RODRUNNER REF NO: BJ-FO-994 ADAPTABLE JEEP

Ball Joint

Weight: 0,536

SCRAMBLER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

CJ-8 1981-1985 Front Lower K8195T, 3820873, 14039008,
3633950

Length: 92 Bolt Metric: 3/4" 16G UNF

USA Market

RODRUNNER REF NO: BJ-FO-994 ADAPTABLE DODGE

Ball Joint

Weight: 0,536

RAM 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Lower K8195T, 3820873, 14039008,
3633950

Length: 92 Bolt Metric: 3/4" 16G UNF

USA Market

www.rodrunnerparts.com 21



January 2024

RODRUNNER REF NO: BC-IN-BS016 ADAPTABLE NISSAN

Control Arm Bushing

Weight: 0,122

MURANO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z51 2009-2014 Rear Upper CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

Length: 50

TC-N-1458
Control Arm

and Ball Joint
Rear Right

Upper
CMS301010, 555011AA0A,

555011JA0A

TC-N-1459
Control Arm

and Ball Joint
Rear Left

Upper
CMS301009, 555021AA0A,

555021JA0A

RODRUNNER REF NO: TR-JE-382 ADAPTABLE JEEP

Tie Rod End

Weight: 1,66

GLADIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JT 2020- Front Left
Outer

68258762AE

Length: 303,5 Bolt Metric: M14X1,5 Housing Metric: M29X1,5

www.rodrunnerparts.com 22



January 2024

RODRUNNER REF NO: TR-JE-382 ADAPTABLE JEEP

Tie Rod End

Weight: 1,66

WRANGLER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

JL 2018- Front Left
Outer

68258762AE

Length: 303,5 Bolt Metric: M14X1,5 Housing Metric: M29X1,5

RODRUNNER REF NO: TR-JE-391 ADAPTABLE FIAT

Tie Rod End

Weight: 0,415

500X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

334 2016- Front Right 77368518, 68440381AA

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

Only UK Market

www.rodrunnerparts.com 23



January 2024

RODRUNNER REF NO: TR-JE-391 ADAPTABLE JEEP

Tie Rod End

Weight: 0,415

RENEGADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BU 2015- Front Right 77368518, 68440381AA

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

Only UK Market

RODRUNNER REF NO: TR-JE-392 ADAPTABLE FIAT

Tie Rod End

Weight: 0,415

500X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

334 2016- Front Left 77368517, 68440380AA

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

Only UK Market

www.rodrunnerparts.com 24



January 2024

RODRUNNER REF NO: TR-JE-392 ADAPTABLE JEEP

Tie Rod End

Weight: 0,415

RENEGADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BU 2015- Front Left 77368517, 68440380AA

Length: 135 Bolt Metric: M10X1,5 Housing Metric: M16X1,5

Only UK Market

RODRUNNER REF NO: BC-JG-BS041 ADAPTABLE JAGUAR

Control Arm Bushing

Weight: 0,43

F-PACE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X761 2016- Front Lower
Forward

T4A1012*

Length: 85

TC-JA-929 Lateral Arm
Front Lower

Forward
T4A1012

www.rodrunnerparts.com 25



January 2024

RODRUNNER REF NO: BC-JG-BS041 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,43

RANGE ROVER VELAR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L560 2017- Front Lower
Forward

T4A1012*

Length: 85

TC-JA-929 Lateral Arm
Front Lower

Forward
T4A1012

RODRUNNER REF NO: BJ-KI-644K ADAPTABLE KIA

Ball Joint Kit

Weight: 0,952

SORENTO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Lower 54501P2000*, 54500P2000*

Length: 107,7

www.rodrunnerparts.com 26



January 2024

RODRUNNER REF NO: TC-LA-398 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 9,989

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550(Facelift) 2019- Front Right LR166006

Length: 366

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS070
Control Arm

Bushing
Front Lower

Outer
LR166006*, LR166007*

BC-LR-BS072
Control Arm

Bushing
Front Lower

Inner
LR166006*, LR166007*

RODRUNNER REF NO: TC-LA-398 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 9,989

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2019- Front Right LR166006

Length: 366

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS070
Control Arm

Bushing
Front Lower

Outer
LR166006*, LR166007*

BC-LR-BS072
Control Arm

Bushing
Front Lower

Inner
LR166006*, LR166007*

www.rodrunnerparts.com 27



January 2024

RODRUNNER REF NO: TC-LA-399 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 9,989

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550(Facelift) 2019- Front Left LR166007

Length: 366

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS071
Control Arm

Bushing
Front Lower

Outer
LR166006*, LR166007*

BC-LR-BS072
Control Arm

Bushing
Front Lower

Inner
LR166006*, LR166007*

RODRUNNER REF NO: TC-LA-399 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 9,989

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2019- Front Left LR166007

Length: 366

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-LR-BS071
Control Arm

Bushing
Front Lower

Outer
LR166006*, LR166007*

BC-LR-BS072
Control Arm

Bushing
Front Lower

Inner
LR166006*, LR166007*

www.rodrunnerparts.com 28



January 2024

RODRUNNER REF NO: BC-LR-BS070 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 2,19

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550(Facelift) 2019- Front Lower
Outer

LR166006*, LR166007*

Length: 182,5

TC-LA-398
Control Arm

and Ball Joint
Front Right LR166006

RODRUNNER REF NO: BC-LR-BS070 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 2,19

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2019- Front Lower
Outer

LR166006*, LR166007*

Length: 182,5

TC-LA-398
Control Arm

and Ball Joint
Front Right LR166006

www.rodrunnerparts.com 29



January 2024

RODRUNNER REF NO: BC-LR-BS071 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 2,19

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550(Facelift) 2019- Front Lower
Outer

LR166006*, LR166007*

Length: 182,5

TC-LA-399
Control Arm

and Ball Joint
Front Left LR166007

RODRUNNER REF NO: BC-LR-BS071 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 2,19

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2019- Front Lower
Outer

LR166006*, LR166007*

Length: 182,5

TC-LA-399
Control Arm

and Ball Joint
Front Left LR166007

www.rodrunnerparts.com 30



January 2024

RODRUNNER REF NO: BC-LR-BS072 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,303

DISCOVERY SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L550(Facelift) 2019- Front Lower
Inner

LR166006*, LR166007*

Length: 64,4

TC-LA-398
Control Arm

and Ball Joint
Front Right LR166006

TC-LA-399
Control Arm

and Ball Joint
Front Left LR166007

RODRUNNER REF NO: BC-LR-BS072 ADAPTABLE LAND ROVER

Control Arm Bushing

Weight: 0,303

RANGE ROVER
EVOQUE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L551 2019- Front Lower
Inner

LR166006*, LR166007*

Length: 64,4

TC-LA-398
Control Arm

and Ball Joint
Front Right LR166006

TC-LA-399
Control Arm

and Ball Joint
Front Left LR166007

www.rodrunnerparts.com 31



January 2024

RODRUNNER REF NO: TC-LX-448 ADAPTABLE LEXUS

Control Arm and Ball Joint

Weight: 3,408

LS460

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XF40 2007-2017 Front Right
Lower

4866059016

Length: 401,5 Bolt Metric: M14X1,5

AWD

RODRUNNER REF NO: TC-LX-448 ADAPTABLE LEXUS

Control Arm and Ball Joint

Weight: 3,408

LS600h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XF40 2007-2017 Front Right
Lower

4866059016

Length: 401,5 Bolt Metric: M14X1,5

AWD

www.rodrunnerparts.com 32



January 2024

RODRUNNER REF NO: TC-LX-449 ADAPTABLE LEXUS

Control Arm and Ball Joint

Weight: 3,408

LS460

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XF40 2007-2017 Front Left
Lower

4867059016

Length: 401,5 Bolt Metric: M14X1,5

AWD

RODRUNNER REF NO: TC-LX-449 ADAPTABLE LEXUS

Control Arm and Ball Joint

Weight: 3,408

LS600h

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XF40 2007-2017 Front Left
Lower

4867059016

Length: 401,5 Bolt Metric: M14X1,5

AWD

www.rodrunnerparts.com 33



January 2024

RODRUNNER REF NO: BJ-MA-914 ADAPTABLE MAZDA

Ball Joint

Weight: 0,41

CX-9

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2016- Front Lower TM5234300A*, TM5234350A*

Length: 76,1

YEAR ONLY
2018-

RODRUNNER REF NO: BC-ME-BS233 ADAPTABLE MERCEDES

Stabilizer Bar Link Bushing

Weight: 0,13

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Rear A1673203204, 1673203204,
A1673208800, 1673208800

Length: 32

www.rodrunnerparts.com 34



January 2024

RODRUNNER REF NO: BC-ME-BS233 ADAPTABLE MERCEDES

Stabilizer Bar Link Bushing

Weight: 0,13

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Rear A1673203204, 1673203204,
A1673208800, 1673208800

Length: 32

RODRUNNER REF NO: AJ-N-103 ADAPTABLE NISSAN

Steering Tie Rod

Weight: 0,46

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front 490016US3A, 490016US1E

Length: 216 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 35



January 2024

RODRUNNER REF NO: BC-NI-BS150 ADAPTABLE NISSAN

Lateral Arm Bushing

Weight: 0,11

ALTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L31 2002-2006 Rear Forward 551A03Z000*

Length: 45

TC-N-1478 Lateral Arm Rear Forward 551A03Z000

RODRUNNER REF NO: BC-NI-BS150 ADAPTABLE NISSAN

Lateral Arm Bushing

Weight: 0,11

MAXIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

A34 2004-2008 Rear Forward 551A03Z000*

Length: 45

TC-N-1478 Lateral Arm Rear Forward 551A03Z000

www.rodrunnerparts.com 36



January 2024

RODRUNNER REF NO: BC-NI-BS193 ADAPTABLE NISSAN

Control Arm Bushing

Weight: 0,199

MURANO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z51 2009-2014 Rear Upper CMS301010*, CMS301009*,
555011JA0A*, 555021AA0A*

Length: 50

TC-N-1458
Control Arm

and Ball Joint
Rear Right

Upper
CMS301010, 555011AA0A,

555011JA0A

TC-N-1459
Control Arm

and Ball Joint
Rear Left

Upper
CMS301009, 555021AA0A,

555021JA0A

RODRUNNER REF NO: LS-O-1036 ADAPTABLE OPEL

Stabilizer Bar Link

Weight: 0,306

ASTRA L

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C02 2022- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Plastic Type

www.rodrunnerparts.com 37



January 2024

RODRUNNER REF NO: LS-O-1036 ADAPTABLE DS

Stabilizer Bar Link

Weight: 0,306

4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2021- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Plastic Type

RODRUNNER REF NO: LS-O-1036 ADAPTABLE DS

Stabilizer Bar Link

Weight: 0,306

7 CROSSBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

e-Tense / Plastic Type

www.rodrunnerparts.com 38



January 2024

RODRUNNER REF NO: LS-O-1036 ADAPTABLE PEUGEOT

Stabilizer Bar Link

Weight: 0,306

3008

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

P84 2016- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Plastic Type

RODRUNNER REF NO: LS-O-1036 ADAPTABLE PEUGEOT

Stabilizer Bar Link

Weight: 0,306

308

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

P5 2021- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Plastic Type

www.rodrunnerparts.com 39



January 2024

RODRUNNER REF NO: LS-O-1036A ADAPTABLE OPEL

Stabilizer Bar Link

Weight: 0,422

ASTRA L

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C02 2022- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Steel Type

RODRUNNER REF NO: LS-O-1036A ADAPTABLE DS

Stabilizer Bar Link

Weight: 0,422

4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2021- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Steel Type

www.rodrunnerparts.com 40



January 2024

RODRUNNER REF NO: LS-O-1036A ADAPTABLE DS

Stabilizer Bar Link

Weight: 0,422

7 CROSSBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

e-Tense / Plastic Type

RODRUNNER REF NO: LS-O-1036A ADAPTABLE PEUGEOT

Stabilizer Bar Link

Weight: 0,422

3008

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

P84 2016- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Steel Type

www.rodrunnerparts.com 41



January 2024

RODRUNNER REF NO: LS-O-1036A ADAPTABLE PEUGEOT

Stabilizer Bar Link

Weight: 0,422

308

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

P5 2021- Front 9844061480

Length: 336 Bolt Metric: M10X1,25

Steel Type

RODRUNNER REF NO: BC-RA-BS008 ADAPTABLE RAM

Lateral Arm Bushing

Weight: 0,67

4500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2018 Front Upper 52855625AB*

Length: 60

TC-RA-188 Lateral Arm Front Upper 52855625AB

www.rodrunnerparts.com 42



January 2024

RODRUNNER REF NO: BC-RA-BS008 ADAPTABLE RAM

Lateral Arm Bushing

Weight: 0,67

5500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2011-2018 Front Upper 52855625AB*

Length: 60

TC-RA-188 Lateral Arm Front Upper 52855625AB

RODRUNNER REF NO: BC-RA-BS008 ADAPTABLE DODGE

Lateral Arm Bushing

Weight: 0,67

RAM 4500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2006-2010 Front Upper 52855625AB*

Length: 60

TC-RA-188 Lateral Arm Front Upper 52855625AB

www.rodrunnerparts.com 43



January 2024

RODRUNNER REF NO: BC-RA-BS008 ADAPTABLE DODGE

Lateral Arm Bushing

Weight: 0,67

RAM 5500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2006-2010 Front Upper 52855625AB*

Length: 60

TC-RA-188 Lateral Arm Front Upper 52855625AB

RODRUNNER REF NO: BJ-SZ-614 ADAPTABLE SUZUKI

Ball Joint

Weight: 0,288

IGNIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MF 2016- Front 4520162R00*, 4520262R00*

Length: 70

www.rodrunnerparts.com 44



January 2024

RODRUNNER REF NO: TC-T-1658 ADAPTABLE TOYOTA

Lateral Arm

Weight: 2,27

LAND CRUISER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J100 1998-2007 Rear Lower 4872035030

Length: 535

RODRUNNER REF NO: TC-T-1658 ADAPTABLE TOYOTA

Lateral Arm

Weight: 2,27

4RUNNER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

N180 1996-2002 Rear Lower 4872035030

Length: 535

www.rodrunnerparts.com 45



January 2024

RODRUNNER REF NO: TR-T-201 ADAPTABLE TOYOTA

Tie Rod End

Weight: 1,144

SIENNA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XL40 2020- Front Right 4546009400

Length: 223 Bolt Metric: M12X1,25 Housing Metric: M18X1,5

RODRUNNER REF NO: TR-T-202 ADAPTABLE TOYOTA

Tie Rod End

Weight: 1,144

SIENNA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XL40 2020- Front Left 4547009230

Length: 223 Bolt Metric: M12X1,25 Housing Metric: M18X1,5

www.rodrunnerparts.com 46



January 2024

RODRUNNER REF NO: BC-T-444 ADAPTABLE TOYOTA

Lateral Arm Bushing

Weight: 0,279

LAND CRUISER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J200 2008- Rear 4883060060*

Length: 55

RODRUNNER REF NO: BC-T-444 ADAPTABLE TOYOTA

Lateral Arm Bushing

Weight: 0,279

4RUNNER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

N280 2010- Rear 4883060060*

Length: 55

www.rodrunnerparts.com 47



January 2024

RODRUNNER REF NO: TC-VO-928 ADAPTABLE VOLVO

Lateral Arm

Weight: 3,11

XC40

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Right
Lower

32221200

Length: 578,5

AWD

RODRUNNER REF NO: TC-VO-929 ADAPTABLE VOLVO

Lateral Arm

Weight: 3,11

XC40

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Left
Lower

32221199

Length: 578,5

AWD

www.rodrunnerparts.com 48




